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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence, Then mark the correct choice on your answer sheet.

MJ
1- The questionnaire was intended to —=--=--mm- information on eating habits.
1) retain 2) survey 3) elicit 4) presume
2- The prime minister has called on the public to ------ —— behind the government.
1) rally 2) denote 3) pursue 4) underlie
3- College life opened up a whole -—-- of new experiences.
1) core 2) gamut 3) exposure 4) appreciation
4- The discovery of the new planet gave fresh --—-—-- -- to research on life in outer space.
1) status 2) scheme 3) impetus 4) domain
5- It was -————-- — of me to forget to give you the message.
1) pitfall 2) remiss 3) obstacle 4) inhibition
6- The number of old German cars still on the road ---—--—-- - to the excellence of their
manufacture,
1) traces 2) orients 3) restores 4) attests
7- Age alone will not —-----—- them from getting admission to this university.
1) react 2) distort 3) conduct 4) preclude
8- New technology, the main -———------ of the 1980s, has been a mixed blessing.
1) legacy 2) surplus 3) expansion 4) circumstance
9- I’'m sure my university days appear happier in ---------- than they actually were at the
time.
1) procedure 2) proportion 3) retrospect 4) approximation
10- Even a(n) -------—- olance at the ficures will tell yvou that sales are down.
1) cursory 2) implicit 3) marginal 4) sustainable

e

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

A map 15 always smaller than the real world which it represents. The difference (11) -=-------
between, the map and the Earth’s surface (12) ---------- a scale ratio. For example, the scale
ratio_ 1:50,000 states that one unit of measurement on the map is (13) -----—---- fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) --------—-- the ground.

A map at a large scale, (15) -------—--- 1:10,000, will show a small area of the Earth’s surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail.
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11- 1) insize 2) ag.size 3) from sizes 4) for sizes
12-] ) expresses 2)1s expressing
3)is expressed by 4) will be expressed by
13- 1) equally to 2) equally with 3) equal with 4) equal to
14-1) in 2} on 3) over 4) under
15- 1) sumilar 2) such as 3} being like 4) the same as

PART C: Reading Comprehension

Directions: Read the following four passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

A wide variety of airborne and ground-based aviation recording devices are available that
can provide vital information for accident/incident preéventation purposes. The primary
information source includes the mandatory crash-protected flight recorders, airbome quick
access data recorders, and ground-based recordings of air traffic control (ATC) radar returns
and radio communications. Other sources.of recorded information, such as aircraft system
internal memory devices and recordings of airling operational communications, have also
provided vital information to accident investigators. These devices can range from nonvolatile
memory chips to state-of-the-art solid-state flight recorders. With the exception of the
mandatory flight recorders, these devices were designed primarily to provide recorded
information for maintenance troubleshooting or specific operational requirements. Regardless
of their original purpose, they have all been used in one form or another to investigate aviation
accidents.

I6- The passage indicates that —----- =
1) recording information is vital for safe aviation
2} there are many mandatory data recording systems in aviation
3) maintenance troubleshooting can not be performed without data recording
4} maintenance troubleshooting data recording 1s mandatory for safe aviation
17- According to the passage, how many mandatory data recorders exist in aviation?
1) One 2) Two 3) Four 4) Five
18- The most popular device for data recording in aviation is -------- .
1} aircraft operational communication devices 2) air traffic control radio communications

3} aircraft system internal memory 4 crash-protected flight recorder
19- In the passage, state-of-the-art referes to -——------ "
1} accurate 2) delightful 3) modern 4} popular

20- According to the passage, the recorded information in aviation is primarily used for -,
1 yair traffic control
2) accident prevention
3) accident investigation
4) maintenance troubleshooting or specific operational needs
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Passage 2:

Continuing safe life service of infrastructure is a major challenge in current society and
culture. An immediate focus on aging aircraft has generated a multitude of prablem analyses
and resolution approaches. The development of fracture mechanics as an analysis tool has
enabled quantification of scheduled aircraft inspection and maintenance and the quantification
damage tolerance characteristics and service margins for crack-like anomalies. Crack-like
anomalies due to variance in material quality, service usage (fatigue and physical damage) an
environmental initiation are the primary initial consideration in assessing and quantifying
structural integrity of engineering materials, structure components and systems. Crack-like
anomalies are the cause of approximately 80% of the aircraft that are retired from service due
to degradation in structural integrity. Major technology initiatives have focused on detection
and quantification of crack line anomalies with resultant high confidence in aircraft life
extension and major cost saving in operational readiness and aireraft replacement.

21- What is the major concern of the passage?
1} Safe aircraft operation,
2) The problems associated with old aircraft.
3) How cracks are generated in aircraft structures.
4) Importance of structural damage in aircraft life.
22- What is the role of fracture mechanics in life extension of aircraft?
1) It affects fatigue and physical damage.
2) It 15 used for crack initiation characterization.
3) It 1s a scientific tool for damage quantification.
4) It 15 the main reason of aircraft retirement from service.
23- Which one of the following has not been concerned in aging aircraft?

1) Fatigue 2) Physical damages,

3) Service environment. 4) Scheduled aircraft inspection.
24- In the passage, anomalies refered to -—------- .

1) initiations 2) irregularities

3) geometry of cracks 4) classification of cracks

25- Which one of the followings has the most important effect on aireraft structural life?
1) Cracks
2) Material quality
3) Environmentally-induced damages
4) Quantification of damage tolerance characteristics

Passage 3:

Affordability is a key issue for future acronautical technologies. On the commercial side,
few customers are willing to pay the price for new technology unless it provides a dramatic
improvement in the cost of operation. Most developmental work is limited to incremental
improvements-much of it focused on reliability, maintainability, and operability. Much work is
being done to' package existing technologies in new ways and increase capabilities with
advances in computational capability. Military systems are increasingly relying on adapting
commercial-off-the-shelf technologies for mission uses. This is a trend that has occurred
recently and 1s expected to continue in future as military budgets are pressured.

26~ What is the main discussion of the text?
1) Cost of development of new technologies.
2) Budgets of aeronatical research and development.
3) Capabilities of emerging technologies in aeronautics.
4) Differences between commercial and military technologies.
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27- According to the text, what is the strategy of new technology development?
|} Increasing military budgets.
2) Increasing research and development budgets.
1) Adapting new technologies to improve the cost of operations.
4) Updating the existing aeronautical technologies to match them with future needs.

Passage 4:

A scramjet propulsion system is a hypersonic air-breathing engine in which heat addition,
due to combustion of fuel and air, occurs in the flow that is supersonic relative to the engine. In
a conventional ramjet engine, the incoming supersonic airflow is decelerated to subsonic
speeds by means of a multi-shock intake system and diffusion process. Fuel is added to the
subsonic airflow, the mixture combusts and then re-accelerates through a mechanical choke to
supersonic speeds. By contrast, the airflow in a pure scramjet remains supersonic throughout
the combustion process and does not require a ehoking mechanism. Modern scramjet engines
are able to seamlessly make the transition between ramjet and scramjet operation. As flight
Mach numbers increase beyond Mach 3, the use of supersonic combustion can provide higher
performance (i.e. specific impulse) due to inlet efficiency offset by higher Rayleigh losses
associated with combustion.

28- The passage:
I) Advocates ramjet  2) Advocates scramjet 3) opposes scramjet  4) Proposes ramjet
29- Flow passage in scramjet:

1) is more complicated 2} Is less complicated
3) Requires choking mechanism 4} Requires acceleration-deceleration
30- The word “offset™ in this text referes to:
I} compensation 2) off-design condition
3) Increased in the efficiency 4) Resetting the engine once it is turned off
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